‘www.Padasalai.Net 1 www.TrbTnpsc.com

: Register
Class: 11

FIRST REVISION EXAMINATION, JANUARY - 2025

Time Allowed : 3.00 Hours| MATHEMATICS - [Max. Marks : 90
PART - | .
Note : (i)AnswerAll the questions.akwaacademy.blogspot.com 20%1=20

(i) Choose the most suitable answer from the given four alternatives and write the option
code and the corresponding answer.

1. The numbers of relations on a set containing 3 elements is

1) 1024 By G 3) 512 4) 81
2. Ifthe function [-3, 3] = S defined by f (x) = x* is onto, then S is
1) -9, 9] 2) R - 3) [-3,3] 4) [0, 9]
3. Given that x,y and b are real numbers x <y, n'> 0, then ' :
1) xb<yb 2) xbﬁyb 3) xb>yb _4)' _)_‘z__y_ '
- i o - DNE
4. The equation whose foots are numerical'[y equal but opposite in sign to the. roots 3x?-5x-7=0
1) Be+5x-T=02) J+x-T 3 W-5x+7=0 4) u-5x-7=0
5. coé1°+cosZ°+cosS°+ ......... + cos179°-_ ' |
1) 89 PR Ly e 3 1 4) -1
6. The number of fi ve. digit telephone numbers havmg at Ieast one of their. d:glts repeated is
- 1) 30240 - 2) 90000 3) 69?60 ~4) 10000
7. wag +eNC,, i . e : . |
1) f’*“C e oo tR). PG w3y "Ciy ) T,
8. - The HM of two posﬂwe numbers whose AM and GM are 16 B respectwely is.
1) 4 2)10 3) 5 - o) B

9. The slope of the Ime which makes an angle 459 wnth the line 3x - y=-5are
: 1 1

1).- 2._‘- NI g Ly A
10. If one of the lines given by 6x2 - xy+4cy’— 0is 3x +4y 0, then Cequals to
a). &0 2) 3 e o 4) =4
1. IfA= l" . l,then’ for what value of 4,A? =
S
b oa) 1 20 ' ) 43+
12, 1f the points (x-2), (5.2), (8,8) are collinear, then x is equal to
ayiia o 8y Mg i 3) 1 A 3
i
i\
i}
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19.

20.

i
sin4
22.

23.

24,
25,
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-5 o > : .
If a + 2b and 3a + mb are parallel, then the value of m is

13.
) o8 Ty e ity gl Ay s 2
= _ ' g 6:;
=3 =y B > - ST
14. If |]a| = 13, [b] = 5 and a.b = 60° then, |a x b| is : ;
S T S Y ©.3)7.35 L )45
15. The value of lim sinx sinx_, et
| o xs0 W
(D RER N 2) 4 v 3) 0 7 4" limit does notexist
16. If f(x) = xtanx, then f'(1) is
LA} 2 EIE e TR R,
17. The derivativé off(x) =|xjatX=-3is :
) 0 i Ay e gyl e T M a4y dbes not eXist.
18'.[ 1-X axis
5 I e L S |
1) sintx-V1- x2+c s Gt k)] .\/1-x2+sin"x+c 3

3) Vi- x’+log|x+\’1 X2|+c - 4) Iog[x+\’1 - X¥ - Vi-xt+c

IfAand B are any two events, then the probability that exactly one of them occur is:

1) P(AnB)+P(AnB) . 2) PAUB)+PAUB)
3) PA+PE)#2PANB) - 4 PA)+PE) PGB _
If two events Aand B are mdependent such that P(A) 0.35 and P(AuB) =0. 6 then P(B) o
e g ANyl oLeddes '4) At
THE RS T\t A8 s
\ _PART-Il ‘ | _
Answer él;y 7 of the fbllbwlng questions, QUestioh no: 30 is co’r‘n'pu;lsblj(: | 7x'2=1'4~ o

If n(P(A)) =1024, n(A v B) = 15 and n(P(B)) =32, then find n(A N B)

Flnd the value of (|) .cos 135° : (ll)_ tan 120°
T L then find the value of A
7! 8! .9 : '

If t is the kt term of a GP, then show thatt,,.t.t., alsoform a GP for any positive mteger k.

Find the famlly of stralght lines (I) Perpendicular (ii) Parallel to 3x + 4y —12 0

i .
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26. lfA= 2.1 -2 Is a matrix such that AAT = 91, find the values of x and
X 2y :

27. IfGis the centroid of a tnangle ABC, prove that GA o GB +GC 0.
28. Evaluate: im - 16

—

_ X->2 x-2
29. Differentiate Ly =esinx
30. Integrate: cﬂ

sin?x
PART- Il i

L Answer any 7 questions of the following: Question no: 40 is .compulsory. 7x3= 21

- 31. Graph the functlons f(x) =x* and g(x) *Vx X on the same co ordmate plane Find fog and graph it

on the plane as weII Explain your results. o, T SR

- 32..If the Ioganthm of 324 to base a is 4, thenfinda.
 33: Prove that sin 4A = 4sinA cos?A - 4 cosA sin’A 3 e
34. Flnd the sum of all 4 - digit numbers that can be formed using dlgrts 1,23, 4 and 5 repetmons not
: allowed? - LN _ : d :

| 35. If the pomts P(6, 2) and Q (-2, 1) and R are the vertices of a APQR and R is the pomt on the

locus y = x2 - 3x + 4, then find the equatlon of the locus of centrord of APQR

akwaacademy.blogspot.com abic, | 'A,"B,"éf
]
. 36IfA, B, C, are the co factors of a, bl,crespectrvely.l-_-fltoaln Al = [showthat - [=IAJ2
R | G R e T 2,bz,c C|ARBu Gyl T
_ a,, b,,c i _ A:,BSC3 '
37. Find the vectors of magnltude 6 which are perpendrcular to both vectors a= 4/|\- j+ 3k and
A A ; g
o=+ 2

}‘ ,38 leferentlate y= (x2+ 5) log (1+x)-3x' | ek
,"];-39 Given that P(A) 06P(B) 05P(AnB) oz F|nd 0) p(A,B) (i) p(A,B) (i) P(NB)
'40 Integrate x2
L PART- IV '_
T, Answer all questlons of the following: : ) -4 T 7*5:-35»-
.41 (a) IffR - R is.defined by f(x) = 2x-3prove thatfisabuectlon and t"nd lts inverse.
. | (OR) i »
(b) Find the value of V65 5

a .- ~ . C
Kindly Send Me Your Questions & Answer Keys to us: pa%%%?gﬂr%%)g?nr%ﬁ?com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

-www.Padasalai.Net 4 www.TrbTnpsc.com

42.:z) Simplty: 21 s Mo oty
3-8 V8-v7 V7-V6 V6-V6 +5-2
_ ' (OR)
(b) A factory has two Machines-| and Il. Machine-l produces 60% of ftems and Méchine—ll produces
40% of the items of the total output. Further 2% of the items produced by Machine-l are

defective where as 4% produced by Machine i afe defective. If an item is drawn at random

what is the probability that it is defective?

43. (a) 10+ ¢ =a andtan 0 = k tan ¢, then prove that sin(6 - ¢) = - sin a

: (OR) ,
(b) By the princible of mathematical induction , prove that , for n> 1
| n@n-1)@n+1)
. 3 :
44 (a)' The sum of the distance of a moving point from the points (4, 0) and (-4, 0) is always 10

o 1% 3% BT 4L, + (2n-1)2 =

units. Find the equation of the locus of the movin‘g point.
(OR)

] , L w s
(b) Ify= Sin xs,howthat(1--x7)y2—3xy1_'y=0
45. (a) The slope of one ofthe straight lines ax’+2hxy+by‘*_=0istwicéthatoftheoﬂier, show that 8= 9ab. :
TR (OR) -
(b) Sove: _ X% <o
x?-2x - 15 _
' - 5x-7
V3x-x2-2

48. (a) Evaluate the iﬁtegrals: dx

; (OR) | _

(b) Without expanding,thedeter‘minanﬁs.show that |B| = 2|A]. Where
btc cta atb] fabe '

B=|cta atb btc| and A= Ibc a

a+b b+d é+a . lc ab ;
o 142 1 1 '
47. (a), Prove that | 1 1+b 1 =abc(1 # 1y 1.)
e T B
 (OR) . ’

(b) Forany vector E)proye that Ex ﬁ' + |'§ xﬂ’#ﬁx QF = 2|_a)|2 8

AR ST 2 bt .
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